funct f| graph (with 1-1 restriction) identities f’ f f |inverse f_;| graph f, Jq
sin(x) [ 4 1% 3 sin(x+y)=sin(x)cos( y)+cos(x)sin(y) cos(x) |arcsin(x) 31 L
e gmix : ‘ . s g 1-x
=€ -¢ : i > sin(2x)=2sin(x)cos(x) _ 2 1—cos(2x)
2 \_,_4 % . g(f)=R sin (x)= C(2)S X ffdx = A 1
odd, T=21 , i i —cos(x)| D(f )=[-1,1] -5 D(f)=(-1,1
c0s(x) sin0)=2=0 sin(g )= -1 Sm(%)=%7 sm(%):%g sin)=3 =1 sin(x)+cos(x)=1 ~sin(x) |arccos(x) m 2 1_ N
. >
—etre™ 1 cos(x+y)=cos( x)cos( y)—sin(x)sin( y) \ 1-x
2 \ ‘ 2 .2 f dx = % t
= m pa . on €0s(2 x)=cos ( x)—sin (x) cosz(x)= 1+cos(2.x) f . X = ) .
even,T=2r| = 2-11 2 N=—""2 p(f)= 2 sin(x)| D(fp=l-1,1] D(f)=(-1,1)
tan(x) | l | | _ tan(x)+tan(y) 1 Jlarctan(x) | _____t ______ 1
=tg(x) / | | J | J | tan(x+y)= 1-tan(x)tan(y) cos’(x) =arctg(x) %JAV-— x41
_sin@) |z i ! _ 2tan(x) —
~ cos(x) %1 IZE/ > / 1 tan(2.x)= 1-tart (x) ff dx
odd, T=1t ! ! x#:—z +kTt ‘ —Inlcos)] D(f =R D(f)=R
cot(x) 1 1 _cot(x)cot(y)-1 -1 |arccot(x -1
cos(x) . \ k k cot(x+y) cot(x)+cot(y) sinz(x) (x) 241
=— ‘ ‘ 2
sin(x). - %\ 5 ni cot(2x)= —czozé t)?x_)l
odd, T=Tt ‘ vekn D(f )=R D(f)=R
sinh(x) sinh(x+y)=s?nh(x)cosh( y)+cosh( x)sinh(y)| cosh(x) argsinh(x) 1
et sinh(2 x)=2sinh(x)cosh( x) ( VZ_) Vx2+1
2 sinhz(x)= %ﬂ)—l ffdx _ =lnlx+Vx+1 %
— 5 2R costi()-sintf (x)=1 Sclg;lzg) D(f.)=R D =R
x, .Xix cosh(x+y)=cosh(x)cosh( y)+sinh(x)sinh( y) argCOSh(x ) -1
= 2e 1 cosh(2x)=cosh’( x)+sinh’(x) f Fdx = =In(e+Vx*1)
h2( _cosh(2x)+1 . B
even D(f)=R |©°S x)——z sinh(x)|D(f )=[1,%) D(f)=(1,00)
tanh(x) | . ___ & __ _ tanh(x)+tanh( ) 1 |argtanh(x) | | 1
=tgh(x) 1 tanh(x+y)= 1+tanh()x)tanh( y) cosh’(x) —argtgh(x) | | 1-x?
__sinh(x) tanh(2 x)= 2tanh(x | 21yp(1r = i
= cosh() _ anh(2 x) L+tanhZ(x) f fdx =] =20 n(i5 1: / :1
odd - D(f)= Inlcosh(x)} D(f )=(-1,1) ! | D(fp=(-1,1
coth(x) _1+coth(x)coth( y) -1 | | 1
coshv| i - OO coth(wrcoth ) ey [EEOMC =
~sinh(x) 1 1+coth x) =3 =
— coth(20)= 3 coth(x) j DI
odd D(f):x+0 D(f): |xI>1 1 1 © pHabala 2009




